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FUNCTIONS

Multiple Choice Questions Level I

1. Let  , then  is equal to :

A. 

B. 

C. 0

D. 1

f(x) = x3 −
1

x3
f(x) + f( )

1

x

2x3

2

x3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qyDz64oAgMeJ


Answer: C

Watch Video Solution

2. If , where  denotes the greatest integer

function, then :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

[x]2 − 5[x] + 6 = 0 [. ]

x ∈ [3, 4]

x ∈ (2, 3]

x ∈ [2, 3]

x ∈ [2, 4)

3. Range of  is :f(x) =
1

1 − 2 cos x

https://dl.doubtnut.com/l/_qyDz64oAgMeJ
https://dl.doubtnut.com/l/_95BnzXN4aHgb
https://dl.doubtnut.com/l/_3GJjLkl4mr5V


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

[ , 1]
1

3

[ − 1, ]
1

3

( − ∞, − 1] ∪ [ , ∞)
1

3

[ − , 1]
1

3

4. Let , then :

A. 

B. 

C. 

D. None of these

Answer: C

f(x) = √1 + x2

f(xy) = f(x). f(y)

f(xy) ≥ f(x). f(y)

f(xy) ≤ f(x). f(y)

https://dl.doubtnut.com/l/_3GJjLkl4mr5V
https://dl.doubtnut.com/l/_ToC4JkVhl6Xq


Watch Video Solution

5. Domain of  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√a2 − x2(a > 0)

( − a, a)

[ − a, a]

[0, a]

( − a, 0]

6. The domain of the function f defined by :

 is :

A. 

f(x) =
1

√x − |x|

R

https://dl.doubtnut.com/l/_ToC4JkVhl6Xq
https://dl.doubtnut.com/l/_UFL7ZxTxgS5x
https://dl.doubtnut.com/l/_WkIwFwZQRwI4


B. 

C. 

D. None of these

Answer: D

Watch Video Solution

R +

R −

7. If  where a and b are integers, 

, then a and b are equal to :

A. 

B. 

C. 

D. 

Answer: B

f(x) = ax + b

f( − 1) = − 5 and f(3) = 3

a = − 3, b = − 1

a = 2, b = − 3

a = 0, b = 2

a = 2, b = 3

https://dl.doubtnut.com/l/_WkIwFwZQRwI4
https://dl.doubtnut.com/l/_lPMLGc372zbw


Watch Video Solution

8. The domain of the function f defined by :

 is equal to :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = √4 − x +
1

√x2 − 1

( − ∞, − 1) ∪ (1, 4]

( − ∞, − 1] ∪ (1, 4]

( − ∞, − 1) ∪ [1, 4]

( − ∞, − 1) ∪ [1, 4)

9. The domain and range of real function f defined by :

 is given by :f(x) =
4 − x

x − 4

https://dl.doubtnut.com/l/_lPMLGc372zbw
https://dl.doubtnut.com/l/_UC0g4enuxisz
https://dl.doubtnut.com/l/_mdQ81GKWKehl


A. Domain = R, Range = {-1,1}

B. Domain = R - {1}, Range = R

C. Domain = R - {4}, Range = {-1}

D. Domain = R - {-4}, Range = {-1,1}

Answer: C

Watch Video Solution

10. The domain and range of real function f defined by

 is given by :

A. 

B. 

C. 

D. 

f(x) = √x − 1

Domain = (1, ∞), Range = (0, ∞)

Domain = [1, ∞), Range = (0, ∞)

Domain = [1, ∞), Range = [0, ∞)

Domain = (1, ∞), Range = [0, ∞)

https://dl.doubtnut.com/l/_mdQ81GKWKehl
https://dl.doubtnut.com/l/_pjaYcPxDOZ2V


Answer: C

Watch Video Solution

11. The domain of the function f defined by

 is given by :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) =
x2 + 2x + 1

x2 − x − 6

R − {3, − 2}

R − { − 3, 2}

R − [3, − 2]

R − (3, − 2)

https://dl.doubtnut.com/l/_pjaYcPxDOZ2V
https://dl.doubtnut.com/l/_BEwmAK8b9Dym


12. The domain and range of the function f given by :

 is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = 2 − |x − 5|

Domain = R + , Range = ( − ∞, 1]

Domain = R, Range = ( − ∞, 2]

Domain = R, Range = ( − ∞, 2)

Domain = R + , Range = ( − ∞, 2]

13. Domain of definition of the function 

is equal to

Watch Video Solution

f(x) = √3 cos − 1(4x) − π

https://dl.doubtnut.com/l/_s9uv7LCS8Hz8
https://dl.doubtnut.com/l/_i1cHnv9W6THI
https://dl.doubtnut.com/l/_d9Hol8tDxPl9


14. If  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = 1 − , thenf[f( )]
1

x

1

x

1

x − 1

x

x − 1

1

1 + x

1

x

15. The composite mapping fog of the maps

 is :

A. 

B. 

C. 

f : R → R, f(x) = sin x, g : R → R, g(x) = x2

sin x2

(sin x)2

sin x + x2

https://dl.doubtnut.com/l/_d9Hol8tDxPl9
https://dl.doubtnut.com/l/_l2VJlosYV0FE


D. 

Answer: A

Watch Video Solution

sin x

x2

16. Which of the following functions is a polynomial function :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x2 + 7x + 4
3

2x2 + x2 / 3 + 4

, x ≠ − 4
x2 − 1
x + 4

x4 + x3 + 3x2 − 7x + √2x − 2

https://dl.doubtnut.com/l/_l2VJlosYV0FE
https://dl.doubtnut.com/l/_TqMHvNy3LISy


17. Which of the following is a rational function ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√4x3 + 4x + 7
1

3

, x ≠ 2
3x3 − 7x + 1

x − 2

, x > 0
3x5 + 5x3 + 2x + 7

x3 / 2

, x ≠ − 2/5
√1 + x

2 + 5x

18. Which of the following functions is an even function :

A. 

B. 

C. 

f(x) =
ax + a − x

ax − a − x

f(x) =
ax + 1
ax − 1

f(x) = x
ax − 1
ax + 1

https://dl.doubtnut.com/l/_7Bfjg2QumtIq
https://dl.doubtnut.com/l/_tQsATzAp1xC8


D. 

Answer: C

Watch Video Solution

f(x) = log2(x + √x2 + 1)

19. Which of the following functions is an odd function ,

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = √1 + x + x2 + √1 − x + x2

f(x) = x( )
ax + 1
ax − 1

f(x) = log( )
1 − x

1 + x

f(x) = k(constant)

https://dl.doubtnut.com/l/_tQsATzAp1xC8
https://dl.doubtnut.com/l/_O6NLfAHsS6Vg


20. The period of  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

|sin x| + |cos x|

|sin x − cos x|

2π

π

π

2

π

4

21. Which of the following functions from 

to itself is a bijection ?

A. 

B. 

A = {x : − 1 ≤ x ≤ 1}

f(x) = |x|

f(x) = x2

https://dl.doubtnut.com/l/_7og8JdN5Du8O
https://dl.doubtnut.com/l/_IWE3h3AjsjYg


C. 

D. 

Answer: D

Watch Video Solution

f(x) =
x

2

f(x) = sin( )
πx

2

22. If f is any function, then  is always :

A. one-one

B. neither even nor odd

C. even

D. odd

Answer: C

Watch Video Solution

[f(x) + f( − x)]
1

2

https://dl.doubtnut.com/l/_IWE3h3AjsjYg
https://dl.doubtnut.com/l/_EpgavQi3cm7u
https://dl.doubtnut.com/l/_fBYmVHvlykLe


23. Which of the following functions is not onto ?

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

f : R → R, f(x) = 3x + 5

f : R → R + , f(x) = x2 + 4

f : R + → R + , f(x) = √x

24. The domain of  is :

A. R

B. R - {0}

C. 

f(x) = cot − 1 , x ∈ R
x

√x2 − [x2]

R − { ± √n, n ∈ N}

https://dl.doubtnut.com/l/_fBYmVHvlykLe
https://dl.doubtnut.com/l/_wL9SOoAbXP3U


D. None of these

Answer: D

Watch Video Solution

25. The domain of definition of the function :

 is :

A. 

B. 

C. Set of all reals different from {1}

D. 

Answer: A

Watch Video Solution

y = 3e√x2 − 1 log(x − 1)

(1, ∞)

[1, ∞)

( − ∞, − 1) ∪ (1, ∞)

https://dl.doubtnut.com/l/_wL9SOoAbXP3U
https://dl.doubtnut.com/l/_9Km9cn4EHe0i
https://dl.doubtnut.com/l/_RbAEjP4m5IK4


26. Let [x] denote the greatest integer x. The domain of

definition of the function  is :

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

≤

f(x) = √
4 − x2

[x] + 2

( − ∞, − 2) ∪ [ − 1, 2]

[0, 2]

[ − 1, 2]

(0, 2)

27. The domain of the function :  is :

A. 

B. 

f(x) = log(1 − x) + √x2 − 1

[ − 1, 1]

(1, ∞)

https://dl.doubtnut.com/l/_RbAEjP4m5IK4
https://dl.doubtnut.com/l/_4BBAO2flSoE3


C. 

D. 

Answer: D

Watch Video Solution

(0, 1)

( − ∞, − 1]

28. The domain of the function  is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = √log0.5 x

(0, 1]

(0, ∞)

(0.5, ∞)

[1, ∞)

https://dl.doubtnut.com/l/_4BBAO2flSoE3
https://dl.doubtnut.com/l/_nSYjJqX1L51F
https://dl.doubtnut.com/l/_UlYKAoOZsklm


29. The domain of the function :  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = √log
1

|sin x|

( − ∞, ∞)

R − {nπ : n ∈ I}

R − ( − π, π)

R − {2nπ : n ∈ I}

30. The domain of definition of the function :

 is :

A. 

B. 

f(x) = √log10( )
5x − x2

4

[0, 5]

(0, 5)

https://dl.doubtnut.com/l/_UlYKAoOZsklm
https://dl.doubtnut.com/l/_6cA98UcgaY1f


C. 

D. 

Answer: C

Watch Video Solution

[1, 4]

(1, 4)

31. The domain of  is :

A. (1,4)

B. (-2,4)

C. (2,4)

D. None of these

Answer: C

View Text Solution

f(x) =
√−log0.3(x − 1)

√−x2 + 2x + 8

https://dl.doubtnut.com/l/_6cA98UcgaY1f
https://dl.doubtnut.com/l/_ClwYSLW8JAoi


32. The domain of  is :

A. 

B. 

C. 

D. None of these

Answer: D

Watch Video Solution

f(x) = √log(2x − x2)

(0, 1) ∪ (1, ∞)

(0, ∞)

(1, ∞)

33. The domain of definition of the function :  is

given by :

A. 

B. 

3√
2x + 1

x2 − 10x − 11

x ≠ − 1, x ≠ 11

x > 0

https://dl.doubtnut.com/l/_AiOlqnIewsqg
https://dl.doubtnut.com/l/_nHBMb6T7zgFp


C. 

D. 

Answer: A

Watch Video Solution

−∞ < x < ∞

x < 0

34. The domain of  is :

A. 

B. 

C. 

D. None of these

Answer: B

View Text Solution

f(x) = √( − 1)
1

sin x

(2nπ, 2nπ + )
π

2

(2nπ, (2n + 1)π)

((2n − 1)π, 2nπ)

https://dl.doubtnut.com/l/_nHBMb6T7zgFp
https://dl.doubtnut.com/l/_GSCDBWzwoopy


35. The domain of the function :  is :

A. (1,4)

B. (2,4)

C. (-2,4)

D. None of these

Answer: B

Watch Video Solution

f(x) =
√−log0.3(x − 1)

√−x2 + 2x + 8

36. The domain of the function : 

is :

A. {2,3}

B. {2,3,4}

f(x) = 16 − xC2x − 1 + 20 − 3xP4x − 5

https://dl.doubtnut.com/l/_EddVJ1YwCN7V
https://dl.doubtnut.com/l/_WnXqyFy6qfxZ


C. {1,2,3,4,5}

D. None of these

Answer: A

View Text Solution

37. The domain of the function  is :

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

f(x) = √
1 − |x|

2 − |x|

( − ∞, ∞) − [ − 2, 2]

( − ∞, ∞) − [ − 1, 1]

[ − 1, 1] ∪ ( − ∞, − 2) ∪ (2, ∞)

https://dl.doubtnut.com/l/_WnXqyFy6qfxZ
https://dl.doubtnut.com/l/_jORTDRbu1HcK


38. The domain of  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = √log( )
1

|sin x|

R − [ − π, π]

R − {nπ : n ∈ I}

R − {2nπ : n ∈ I}

( − ∞, ∞)

39. Domain of definition of the function : 

for real valued x, is :

A. 

B. 

f(x) = √sin− 1(2x) +
π

6

[ − , ]
1

4

1
2

[ − , ]
1
2

1
2

https://dl.doubtnut.com/l/_VA62ZCNVE2FE
https://dl.doubtnut.com/l/_iIchU5HZ28bX


C. 

D. 

Answer: A

Watch Video Solution

( − , )
1

2

1

9

[ − , ]
1

4

1

4

40. The range of the function  , where [x] denotes

the greatest integer x is :

A. [0,1)

B. (-1,0)

C. (-1,0]

D. None of these

Answer: C

Watch Video Solution

f(x) = [x] − x

≤

https://dl.doubtnut.com/l/_iIchU5HZ28bX
https://dl.doubtnut.com/l/_LTFb143mDgo0


41. The range of the function , ,

where [x] denotes the greatest integer  , is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = cos[x] −π /4 < x < π /4

≤ x

{1, cos 1}

{0, − cos 1}

{0}

{0, − 1}

42. The range of the function , where [x] denotes

the greatest integer  x, is :

A. 1

f(x) = x − [x]

≤

https://dl.doubtnut.com/l/_LTFb143mDgo0
https://dl.doubtnut.com/l/_rNC2cq0YHhJ0
https://dl.doubtnut.com/l/_4ccY1s2mYwhh


B. {0}

C. (0,1)

D. [0,1)

Answer: D

Watch Video Solution

43. The range of the function  is :

A. (0,1)

B. [-1,1]

C. {0}

D. 0

Answer: C

View Text Solution

sin([x]π)

https://dl.doubtnut.com/l/_4ccY1s2mYwhh
https://dl.doubtnut.com/l/_geffPAjz56Qs


44. The rangeof the function , ,

where [x] denotes the greatest integer  x, is :

A. {0,-sin1}

B. 

C. {0,-1}

D. {0}

Answer: A

Watch Video Solution

y = f(x) = sin[x] < x <
−π

4

π

4

≤

{0, ± sin 1}

45. Which of the following functions is periodic ?

A. f(x) = x − [x]

https://dl.doubtnut.com/l/_geffPAjz56Qs
https://dl.doubtnut.com/l/_aEagwYncdQqu
https://dl.doubtnut.com/l/_zVNuAp6Dvhw8


B. 

C. 

D. None of these

Answer: A

View Text Solution

f(x) = sin , x ≠ 0, f(0) = 0
1

x

f(x) = x cos x

46. The period of the function  is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = |sin x| + |cos x|

π

4π

π /2

2π

https://dl.doubtnut.com/l/_zVNuAp6Dvhw8
https://dl.doubtnut.com/l/_CDJcsF3JdwkK


47. The period of the function :  is :

A. 6

B. 24

C. 8

D. 

Answer: B

Watch Video Solution

f(x) = 3 sin + 4 cos
πx

3
πx

4

2π

48. Let . Then f(x) is :

A. a periodic function of period 

B. a periodic function of period 

f(x) = cos 3x + sin √3x

2π

√3π

https://dl.doubtnut.com/l/_CDJcsF3JdwkK
https://dl.doubtnut.com/l/_qjH7Cxpb5GR7
https://dl.doubtnut.com/l/_EwxyRg6ain8y


C. not a periodic function

D. None of these

Answer: C

View Text Solution

49. The function  is :

A. not periodic

B. periodic, with period 2(n!)

C. periodic with period (n+1)

D. None of these

Answer: D

Watch Video Solution

f(x) = sin − cos
πx

n !

πx

(n + 1) !

https://dl.doubtnut.com/l/_EwxyRg6ain8y
https://dl.doubtnut.com/l/_gqBfUCie0yVu


50. The funcction , where [x] is the greatest

integer less than or equal to x, is a :

A. periodic function of period 

B. periodic function of period 1

C. periodic fucntion of indeterminate period

D. non-periodic function.

Answer: D

Watch Video Solution

f(x) = x − [x] + cos x

2π

51. If , then :

A. 

B. 

f(x) =
3x + 2

5x − 3

f − 1(x) = f(x)

f − 1(x) = − f(x)

https://dl.doubtnut.com/l/_zyyyNSJe0Z13
https://dl.doubtnut.com/l/_IPaYvDN4cpcA


C. 

D. 

Answer: A

Watch Video Solution

f(f(x)) = − x

f − 1(x) = − f(x)
1

19

52. If  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = , thenf − 1(x)
2x − 2− x

2x + 2− x

log2

1
2

x

1 − x

log2

1
2

1 + x

1 − x

log2

1
2

1 + x

x

log2

1
2

2 + x

2 − x

https://dl.doubtnut.com/l/_IPaYvDN4cpcA
https://dl.doubtnut.com/l/_GTpEkRA2H7QA


53. If  is the inverse of itself, then the value

of  is :

A. -2

B. -1

C. 0

D. 2

Answer: B

Watch Video Solution

f(x) = 1 + αx, α ≠ 0

α

54. Which of the following functions is inverse of itself :

A. 

B. 

f(x) =
1 − x

1 + x

g(x) = 5log x

https://dl.doubtnut.com/l/_QX8QREZ3XPaa
https://dl.doubtnut.com/l/_BibiFR0scZkt


C. 

D. None of these

Answer: A

Watch Video Solution

h(x) = 2x ( x − 1 )

55. The inverse of  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

10x − 10− x

10x + 10− x

log10(2 − x)

log10( )
1
2

1 + x

1 − x

log10(2x − 1)
1
2

log( )
1

4

2x

2 − x

https://dl.doubtnut.com/l/_BibiFR0scZkt
https://dl.doubtnut.com/l/_oJOZNhF1HWkl


56. If  is given by , then 

equals :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f : [1, ∞) → [1, ∞) f(x) = x +
1

x
f − 1(x)

x + √x2 − 4
2

x − √x2 − 4
2

1 + √x2 − 4

x

1 + x2

57. If , then :

A. 

B. 

f(x) = , x ∈ R − { }
3x + 2

5x − 3

3

5

f − 1(x) = f(x)

f − 1(x) = − f(x)

https://dl.doubtnut.com/l/_mx7kzck9rtYS
https://dl.doubtnut.com/l/_RUXHwtc8vWf6


C. 

D. 

Answer: A

Watch Video Solution

f(f(x)) = − x

f − 1(x) = − f(x)
1

19

58. The inverse of the function  is given by :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x) = + 2
ex − e − x

ex + e − x

loge ( )
1 / 2

x + 2

x − 1

loge ( )
1 / 2

x − 1

3 − x

loge ( )
1 / 2

x

2 − x

loge ( )
− 2

x − 1

x + 1

https://dl.doubtnut.com/l/_RUXHwtc8vWf6
https://dl.doubtnut.com/l/_YW0Jc1CzbAJ0


59. If < , then x lies in the interval :

A. (-2,-1)

B. (1,2)

C. 

D. None of these

Answer: C

Watch Video Solution

log0.3(x − 1) log0.09(x − 1)

(2, ∞)

60. Which one of the following is periodic ?

A. 

B. 

C. 

f(x) = x − [x], where[x] ≤ x

f(x) = x sin(1/x)forx ≠ 0, f(0) = 0

f(x) = x cos x

https://dl.doubtnut.com/l/_FXLweeq7J8DJ
https://dl.doubtnut.com/l/_DVKTc0R0IWOG


D. None of these

Answer: A

Watch Video Solution

61. The domain of  is :

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

f(x) =
1

√|cos x| + cos x

[ − 2nπ, 2nπ]

(2nπ, (2n + 1)π)

( , )
(4n + 1)π

2

(4n + 3)π

2

( , )
(4n − 1)π

2

(4n + 1)π

2

https://dl.doubtnut.com/l/_DVKTc0R0IWOG
https://dl.doubtnut.com/l/_5wdnk68eC2g9


62. Let  be a mapping defined by , then 

 is equal to :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f : R → R f(x) = x3 + 5

f − 1(x)

(x + 5)1 / 3

(x − 5)1 / 3

(5 − x)1 / 3

5 − x

63. Let  :

A.  only where 

B.  for all 

f(θ) = sin θ(sin θ + sin 3θ), thenf(θ)

≥ 0 θ ≥ 0

≤ 0 θ

https://dl.doubtnut.com/l/_WSLl82QXrkwm
https://dl.doubtnut.com/l/_tWbho5IvSUsB


C.  for all real 

D.  only when 

Answer: C

Watch Video Solution

≥ 0 θ

≤ 0 θ ≤ 0

64. Let , then for what value of  is

 ?

A. 

B. 

C. 1

D. -1

Answer: D

Watch Video Solution

f(x) = , x ≠ 0
αx

x + 1
α

f[f(x)] = x

√2

−√2

https://dl.doubtnut.com/l/_tWbho5IvSUsB
https://dl.doubtnut.com/l/_zcQt5SfawrAu


65. The value of the parameter  for which the function

, is the inverse of itself is :

A. -2

B. -1

C. 1

D. 2

Answer: B

Watch Video Solution

α

f(x) = 1 + αx, α ≠ 0

66. If  is given by , then 

equals :

A. 

f : [1, ∞) → [2, ∞) f(x) = x +
1

x
f − 1(x)

x + √x2 − 4
2

https://dl.doubtnut.com/l/_zcQt5SfawrAu
https://dl.doubtnut.com/l/_dDCw63KmxD4O
https://dl.doubtnut.com/l/_W8SgP6NaNoTM


B. 

C. 

D. 

Answer: A

Watch Video Solution

x

1 + x2

x − √x2 − 4
2

1 + √x2 − 4

67. Let  and  


Then for all x,f(g(x)) is equal to :

A. x

B. 1

C. f(x)

D. g(x)

g(x) = 1 + x − [x] f(x) =
⎧⎪
⎨
⎪⎩

−1,x < 0

0,x = 0

1,x > 0

https://dl.doubtnut.com/l/_W8SgP6NaNoTM
https://dl.doubtnut.com/l/_CbTSiUvtKxTL


Answer: B

Watch Video Solution

68. Which of the following functions is not periodic ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

|sin 3x| + sin2 x

cos √x + cos2 x

cos 4x + tan2 x

cos 2x + sin x

69. Let function  be defined by  for 

. Then f is :

f : R → R f(x) = 2x + sin x

x ∈ R

https://dl.doubtnut.com/l/_CbTSiUvtKxTL
https://dl.doubtnut.com/l/_7YuDupnQrjhT
https://dl.doubtnut.com/l/_lexTEobg0O4U


A. one-to-one and onto

B. one-to-one but NOT onto

C. onto but NOT one-to-one

D. neither one-to-one not onto.

Answer: A

Watch Video Solution

70. The function  is :

A. an odd function

B. a periodic funciton

C. neither an even nor an odd function

D. an even function

Answer: A

f(x) = log(x + √x2 + 1)

https://dl.doubtnut.com/l/_lexTEobg0O4U
https://dl.doubtnut.com/l/_IYiLygaA5tWb


Watch Video Solution

71. A function  defined as  is :

A. one-one and onto

B. one-one but not onto

C. onto but not one-one

D. neither one-one nor onto

Answer: B

Watch Video Solution

f : [0, ∞) → [0, ∞) f(x) =
x

1 + x

72. Range of the function  is :

A. 

f(x) = , x ∈ R
x2 + x + 2

x2 + x + 1

(1, ∞)

https://dl.doubtnut.com/l/_IYiLygaA5tWb
https://dl.doubtnut.com/l/_AgemoMWSmxSP
https://dl.doubtnut.com/l/_h5LSY8wghGai


B. 

C. 

D. 

Answer: C

Watch Video Solution

(1, )
11

7

(1, ]
7
3

(1, )
7
5

73. The range of the function :  is :

A. {1,2,3}

B. {1,2,3,4,5,6}

C. {1,2,3,4}

D. {1,2,3,4,5}

Answer: A

Watch Video Solution

f(x) = 7 − xPx − 3

https://dl.doubtnut.com/l/_h5LSY8wghGai
https://dl.doubtnut.com/l/_AvGbmcsyS68w


Multiple Choice Questions Level Ii

74. If  defined by : , is onto,

then the interval of S is :

A. [0,3]

B. [-1,1]

C. [0,1]

D. [-1,3]

Answer: D

Watch Video Solution

f : R → S f(x) = sin x − √3 cos x + 1

https://dl.doubtnut.com/l/_AvGbmcsyS68w
https://dl.doubtnut.com/l/_t1JKe0WPnFdP


1. If , then :

 has the value :

A. -1

B. 

C. -2

D. None of these

Answer: D

Watch Video Solution

f(x) = cos(log x)

f(x). f(y) − (f( ) + f(xy))
1

2
x

y

1

2

2. If , then

 has the value :

A. -2

f(x) = cos(log x)

f(x2)f(y2) − [f( ) + f(x2y2)]
1

2

x2

y2

https://dl.doubtnut.com/l/_HcZEHsZCcYLA
https://dl.doubtnut.com/l/_JHXIVslPESG9


B. -1

C. 

D. None of these

Answer: D

Watch Video Solution

1

2

3. Let . If 

, then 

 equals :

A. 0

B. 5

C. 6

D. 9

p(x) = a2 + bx, q(x) = lx2 + mx + n

p(1) − q(1) = 0, p(2) − q(2) = 1 and p(3) − q(3) = 4

p(4) − q(4)

https://dl.doubtnut.com/l/_JHXIVslPESG9
https://dl.doubtnut.com/l/_82ZUYnQ4j80p


Answer: D

Watch Video Solution

4. If , then  is

equal to :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = log( ) and g(x) =
1 + x

1 − x

3x + x3

1 + 3x2
f(g(x))

f(3x)

[f(x)]
3

−f(x)

3f(x)

https://dl.doubtnut.com/l/_82ZUYnQ4j80p
https://dl.doubtnut.com/l/_XS9NwUdmT9ia


5. Let

. Then  is :

A. a constant function

B. a polynomial of degree one in sinx, cosx

C. a polynomial of degree two in sinx, cosx

D. None of these

Answer: A

Watch Video Solution

f(x) = sin2 x + sin2(x + ) + cos x. cos(x + ) and g( ) = 1
π

3

π

3

5

4

(gof)(x)

6. The function  has period

equal to  if  is :

A. 1

f(x) = λ|sin x| + λ2|cos x| + g(λ)

π

2
λ

https://dl.doubtnut.com/l/_5P5zZ0UKdLzL
https://dl.doubtnut.com/l/_Flgghoeo07UH


B. 2

C. 3

D. None of these

Answer: A

Watch Video Solution

7. The range of  is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = 6x + 3x + 6− x + 3− x + 2

[ − 2, ∞)

( − 2, ∞)

(6, ∞)

[6, ∞)

https://dl.doubtnut.com/l/_Flgghoeo07UH
https://dl.doubtnut.com/l/_2Minwv9LtIS0


8. The domain of the function :

 is :

A. [-3,-2] excluding (-2.5)

B. [0,1] excluding 0.5

C. [-2,1] excluding 0

D. None of these

Answer: C

Watch Video Solution

y = f(x) = + √x + 2
1

log10(1 − x)

9. The domain of the function :  is :

A. 

f(x) = log2[log3[log4 x]]

x < 4

https://dl.doubtnut.com/l/_2Minwv9LtIS0
https://dl.doubtnut.com/l/_PqcGau0LzyAE
https://dl.doubtnut.com/l/_e8mXWMW50a3z


B. 

C. 

D. 

Answer: B

Watch Video Solution

x > 4

0 < x < 2

2 < x < 4

10. If [x] denotes the greatest integer  x and 

, then domain of f is :

A. (1,2]

B. [1,2]

C. [0,2]

D. [0,1]

Answer: B

≤

f(x) = + √(2 − x)x
1

[x]

https://dl.doubtnut.com/l/_e8mXWMW50a3z
https://dl.doubtnut.com/l/_soV1gwijiX07


Watch Video Solution

11. The domain of the function  is :

A. [0,1]

B. [-1,1]

C. 

D. 

Answer: B

Watch Video Solution

f(x) = √1 − √1 − √1 − x2

{x : x < 1}

{x : x > − 1}

12. The domain of the function  is :

A. [-1,1]

f(x) = √x − √1 − x2

https://dl.doubtnut.com/l/_soV1gwijiX07
https://dl.doubtnut.com/l/_fDUGVytCAjYh
https://dl.doubtnut.com/l/_PZKhId4d0aHF


B. 

C. 

D. 

Answer: B

Watch Video Solution

[ , 1]
1

√2

[ − 1, − ] ∪ [ , 1]
1

√2

1

√2

( − ∞, − ) ∪ [ , + ∞)
1

2

1

√2

13. The domain of the function :  is :

A. 

B. 

C. 

D. 

Answer: B

W t h Vid S l ti

f(x) = log10 log10(1 + x2)

( − 1, + ∞)

(0, + ∞)

[0, + ∞)

( − 1, 0)

https://dl.doubtnut.com/l/_PZKhId4d0aHF
https://dl.doubtnut.com/l/_c7IaMwEALQgM


Watch Video Solution

14. Given , then :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) : and g(x) =
1

√|x| − x

1

√x − |x|

Df ≠ ϕ and Dg = ϕ

Df = ϕ and Dg ≠ ϕ

Df = Dg

Df = ϕ and Dg = ϕ

15. The function f and g are given by : , the fractional

part of x and , where [x] denotes the integral part

of x, then range of gof is :

f(x) = (x)

g(x) = sin[x]π
1

2

https://dl.doubtnut.com/l/_c7IaMwEALQgM
https://dl.doubtnut.com/l/_xeGiBplow7Q4
https://dl.doubtnut.com/l/_UE6XdRhhUbKe


A. [-1,1]

B. {-1,1}

C. {0}

D. [0,1]

Answer: C

Watch Video Solution

16. Let , where greatest integer less than

or equal to a. If the period of f(x) is , then :

A. 

B. 

C. 

D. None of these

f(x) = sin √px p = [a] =

π

a ∈ [4, 5]

a = 4, 5

a ∈ [4, 5)

https://dl.doubtnut.com/l/_UE6XdRhhUbKe
https://dl.doubtnut.com/l/_svhpgEfXtevq


Answer: C

Watch Video Solution

17. Let  be defined by , then the value of 

 respectively are :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f : R → R f(x) = x2 + 1

f − 1(17) and f − 1( − 3)

{ϕ}, [ − 4, 4]

{ − 3, 3}, {ϕ}

{ϕ}, { − 3, 3}

{ − 4, 4}, {ϕ}

18. Let x be any real number, then  holds for :[x + y] = [x] + [y]

https://dl.doubtnut.com/l/_svhpgEfXtevq
https://dl.doubtnut.com/l/_sSZBrGIllgoN
https://dl.doubtnut.com/l/_WVMTAWnbGv1b


A. 

B. 

C. 

D. 

Answer: D

View Text Solution

y ∈ R, y ∉ Q

y ∈ Q

y ∈ R

y ∈ I

19. , then the value of x is :

A. 

B. 

C. 

D. 

Answer: B

log2(log3(log2 x)) = 1

22

29

42

34

https://dl.doubtnut.com/l/_WVMTAWnbGv1b
https://dl.doubtnut.com/l/_mWVyShJIQqtp


Watch Video Solution

20. Let  be a function defined by : 

is :

A. one-one and into

B. one-one and onto

C. many-one and onto

D. many-one and into

Answer: C

Watch Video Solution

f : R → R f(x) =
x2 + 2x + 5

x2 + x + 1

21. Let . If D is the domain of f, then D contains :f(x) =
√sin x

1 + 3√sin x

https://dl.doubtnut.com/l/_mWVyShJIQqtp
https://dl.doubtnut.com/l/_ZvWoz2KnVqYM
https://dl.doubtnut.com/l/_BtCp9sYRAs2G


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

(0, π)

( − 2π, − π)

(2π, 4π)

(4π, 6π)

22. The domain of the definition of the function y(x) given by the

equation  is :

A. 

B. 

C. 

D. 

2x + 2y = 2

0 < x ≤ 1

0 ≤ x ≤ 1

−∞ < x ≤ 0

−∞ < x < 1

https://dl.doubtnut.com/l/_BtCp9sYRAs2G
https://dl.doubtnut.com/l/_oAjqTbRAvtiH


Answer: D

Watch Video Solution

23. Let , then one-one onto mappings 

such that  are given by :

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

X = {1, 2, 3, 4} f : X → X

f(1) = 1, f(2) ≠ 2 and f(4) ≠ 4

{(1, 1), (2, 4), (3, 2), (4, 3)}

{(1, 2), (2, 4), (3, 3), (4, 2)}

{(1, 2), (2, 4), (3, 3), (4, 2)}

24. The domain of definition of  is :f(x) =
log2(x + 3)

x2 + 3x + 2

https://dl.doubtnut.com/l/_oAjqTbRAvtiH
https://dl.doubtnut.com/l/_LO3WdEpevSeO
https://dl.doubtnut.com/l/_wzON3TNJLiBK


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

R − { − 1, − 2}

( − 2, ∞)

R − { − 1, − 2, − 3}

( − 3, ∞) − { − 1, − 2}

25. The domain of  is :

A. [1,9]

B. [-1,9]

C. [-9,1]

D. [-9,-1]

Answer: A

sin− 1[log3( )]
x

3

https://dl.doubtnut.com/l/_wzON3TNJLiBK
https://dl.doubtnut.com/l/_7ZKKr9SV6wsZ


Watch Video Solution

26. Suppose  for . If g(x) is the function

whose graph is reflection of the graph of f(x) with respect to the

line , then g(x) equals :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

f(x) = (x + 1)2
x ≥ − 1

y = x

−√x − 1, x ≥ 0

, x > − 1
1

(x + 1)2

√x + 1, x ≥ − 1

√x − 1, x ≥ 0

https://dl.doubtnut.com/l/_7ZKKr9SV6wsZ
https://dl.doubtnut.com/l/_olJlzvDVcQsy


27. A function f from the set of natural numbers to integers defined

by :  is :

A. onto but not one-one

B. one-one and onto both

C. neither one-one nor onto

D. one-one but not onto

Answer: B

Watch Video Solution

f(n) = [
,when n is odd

− ,when n is even

n − 1

2
n

2

28. Domain of definition of the function :

 is :

A. 

f(x) = + log10(x3 − x)
3

4 − x2

( − 1, 0) ∪ (1, 2)

https://dl.doubtnut.com/l/_YPQyuXhiUCNK
https://dl.doubtnut.com/l/_wJv4wCzK51Gy


B. 

C. 

D. 

Answer: C

Watch Video Solution

(1, 2) ∪ (2, ∞)

( − 1, 0) ∪ (1, 2) ∪ (2, ∞)

(1, 2)

29. If  satisfies  for all 

, then  is :

A. 

B. 

C. 

D. 

Answer: C

f : R → R f(x + y) = f(x) + f(y)

x, y ∈ R and f(1) = 7
n

∑
r= 1

f(r)

7(n + 1)

2

7n(n + 1)

7n(n + 1)

2

7n

2

https://dl.doubtnut.com/l/_wJv4wCzK51Gy
https://dl.doubtnut.com/l/_ezRp3IvgWCMx


Watch Video Solution

30. The domain of the function :  is :

A. [2,3]

B. [2,3)

C. [1,2]

D. [1,2)

Answer: B

Watch Video Solution

f(x) =
sin− 1(x − 3)

√9 − x2

31. The graph of the function  is symmetrical about the

line , then :

y = f(x)

x = 2

https://dl.doubtnut.com/l/_ezRp3IvgWCMx
https://dl.doubtnut.com/l/_u6ezhKSueZMD
https://dl.doubtnut.com/l/_x1v3EyTFowT8


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x + 2) = f(x − 2)

f(2 + x) = f(2 − x)

f(x) = f( − x)

f(x) = − f( − x)

32. If , then  is

invertible in the domain :

A. 

B. 

C. 

D. 

f(x) = sin x + cos x, g(x) = x2 − 1 g(f(x))

[0, ]
π

2

[ − , ]
π

4

π

4

[ − , ]
π

2

π

2

[0, π]

https://dl.doubtnut.com/l/_x1v3EyTFowT8
https://dl.doubtnut.com/l/_bkW3etV8jY2s


Answer: B

Watch Video Solution

33. The natural domain of the function  is

:

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√sin− 1(2x) + , x ∈ R
π

6

[ − , ]
1

4

1

2

[ − , ]
1

4

1

4

[ − , ]
1

2

1

2

− ,
1

2

1

4

https://dl.doubtnut.com/l/_bkW3etV8jY2s
https://dl.doubtnut.com/l/_aeUYm6Iv1Cof


34. Let  be a function defined by : 

,


then f is both one-one and onto when B is the interval :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f : ( − 1, 1) → B

f(x) = tan− 1 2x

1 − x2

[0, )
π

2

(0, )
π

2

( − , )
π

2

π

2

[ − , ]
π

2

π

2

35. For real x, let , then :

A. f is one-one but not onto R

B. f is onto R but not one-one

f(x) = x3 + 5x + 1,

https://dl.doubtnut.com/l/_iPVQqnl4KF9u
https://dl.doubtnut.com/l/_jotfz0hpQ6hd


C. f is one-one and onto R

D. f is neither one-one nor onto R

Answer: C

Watch Video Solution

36. Let A and B be two finite sets having m and n elements

respectively. If , the total number of injective functions from

A to B is :

A. 

B. 

C. 

D. 

Answer: D

m ≤ n

mn

nm

n !

n !

(n − m) !

https://dl.doubtnut.com/l/_jotfz0hpQ6hd
https://dl.doubtnut.com/l/_s24YCAAOhBrt


Watch Video Solution

37. The domain of the function :  is :

A. 

B. 

C. 

D. None of these

Answer: D

View Text Solution

y = log10 log10 log10......log10 x
← n times →

[10n, + ∞)

(10n − 1, + ∞)

(10n − 2, + ∞)

38. If [x] stands for the greatest integer function, then the value of :

 is :

A. 498

[ + ] + [ + ] + .... . + [ + ]
1

2

1

1000

1

2

2

1000

1

2

99

1000

https://dl.doubtnut.com/l/_s24YCAAOhBrt
https://dl.doubtnut.com/l/_QyY9X0NXWOvJ
https://dl.doubtnut.com/l/_7Bjpsa49Wbo9


B. 499

C. 500

D. 501

Answer: C

Watch Video Solution

39. A real valued function f(x) satisfies the functional equation :

,


where a is given constant and  is equal to :

A. f(x)

B. 

C. 

D. 

f(x − y) = f(x)f(y) − f(a − x)f(a + y)

f(0) = 1. f(2a − x)

−f(x)

f( − x)

f(a) + f(a − x)

https://dl.doubtnut.com/l/_7Bjpsa49Wbo9
https://dl.doubtnut.com/l/_R21RDeUiVOmR


Answer: B

Watch Video Solution

40. If  then 

will be :

A. one-one onto

B. one-one into

C. many-one onto

D. many-one into

Answer: A

View Text Solution

f(x) = {
x x ∈ Q

0 x ∉ Q
and g(x) = {

x ∉ Q

0 x ∈ Q
(f − g)

https://dl.doubtnut.com/l/_R21RDeUiVOmR
https://dl.doubtnut.com/l/_9jqxSZwBEjJS


41. If X and Y are two non-empty sets, where  is function

defined such that

 for 

for any , then :

A.  only if 

B.  only if 

C.  only if 

D.  never equals B.

Answer: B

View Text Solution

f : X → Y

f(C) = {f(x) : x ∈ C} and f' (D) = {x : f(x) ∈ D} D ⊆ Y

A ⊆ X and B ⊆ Y

f(f − 1(B)) = B B = f(x)

f(f − 1(B)) = B B ⊂ f(x)

f(f − 1(B)) = B B ⊆ f(x)

f(f − 1(B))

42. The largest interval lying in  for which the function :


 is defined is :

[ − , ]
π

2

π

2

f(x) = [4− x2
+ cos − 1( − 1) + log(cos x)]

x

2

https://dl.doubtnut.com/l/_N42Ff4xE75fz
https://dl.doubtnut.com/l/_2YVY26n9p1FZ


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( − , )
π

2

π

2

( − , )
π

4

π

2

(0, )
π

2

[0, π]

43. Let  be a function defined as , where 

 for some }.


Show that f is invertible and its inverse is :

A. 

B. 

C. 

f : N → Y f(x) = 4x + 3

Y = {y ∈ N, y = 4x + 3 x ∈ N

g(y) =
y − 3

4

g(y) =
3y + 4

3

g(y) = 4 +
y + 3

4

https://dl.doubtnut.com/l/_2YVY26n9p1FZ
https://dl.doubtnut.com/l/_eAMtWdZpEEOz
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D. 

Answer: A

Watch Video Solution

g(y) =
y + 3

4

1. The domain of the function  is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) =
1

√|x| − x

( − ∞, ∞)

(0, ∞)

( − ∞, 0)

( − ∞, ∞) − {0}

https://dl.doubtnut.com/l/_eAMtWdZpEEOz
https://dl.doubtnut.com/l/_AFd7mKL14FOB


2. Let  for all . Then the set of

all x satisfying :

, where , is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

f(x) = x2 and g(x) = sin x x ∈ R

(fogogof)(x) = (gogof)(x) (fog)(x) = f(g(x))

±√nπ, n ∈ {0, 1, 2, .......... }

±√nπ, n ∈ {1, 2, ..................}

+ 2nπ, n ∈ {....... , − 2, − 1, 0, 1, 2, ....... }
π

2

2nπ, n ∈ {...... − 2, − 1, 0, 1, 2, .........}

3. The function , defined by: 

, is :

f : [0, 3) → [1, 29]

f(x) = 2x3 − 15x2 + 36x + 1

https://dl.doubtnut.com/l/_AFd7mKL14FOB
https://dl.doubtnut.com/l/_wtvScNKMAKAE
https://dl.doubtnut.com/l/_xApreyKg9LJU


A. one-one and onto

B. onto but not one-one

C. one-one but not onto

D. neither one-one nor onto

Answer: B

Watch Video Solution

4. If  and the equation ,

(where [x] denotes the greatest integer x) has no integral

solution, then all possible values of a lie in the interval :

A. 

B. 

C. 

a ∈ R −3(x − [x])2 + 2(x − [x]) + a2 = 0

≤

(1, 2)

( − 2, − 1)

( − ∞, − 2) ∪ (2, ∞)

https://dl.doubtnut.com/l/_xApreyKg9LJU
https://dl.doubtnut.com/l/_RFk6e5SLnbJN


Question From Karnataka Cet Comed

D. 

Answer: D

Watch Video Solution

( − 1, 0) ∪ (0, 1)

1. The number of one-one and onto mapping from A to B, where

 is :

A. 1000

B. 12

C. 13

D. 0

Answer: C

n(A) = 6 and n(B) = 7

https://dl.doubtnut.com/l/_RFk6e5SLnbJN
https://dl.doubtnut.com/l/_C8N7ccIP3uHm


Watch Video Solution

2. Let defined by :


A. one-one and onto

B. one-one but not onto

C. onto but not one-one

D. neither one-one nor onto

Answer: B

Watch Video Solution

f : N → N

f(n) = {
if n is odd

if n is even

n + 1

2
n

2

3. Suppose  for . If g(x) is the function

whose graph is the reflection of the graph of f(x) in the line y = x,

f(x) = (x + 1)2
x ≥ − 1

https://dl.doubtnut.com/l/_C8N7ccIP3uHm
https://dl.doubtnut.com/l/_hXPwHwEre3hD
https://dl.doubtnut.com/l/_ueTAyVemnEcb


then g(x) =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−√x − 1

√x − 1

, x > − 1
1

(x − 1)2

√x + 1

4. The domain of the function  is :

A. 

B. 

C. 

D. 

f(x) = √cos x

[0, ]
π

2

[0, ] ∪ [ , 2π]
π

2

3π

2

[ , 2π]
3π

2

[ , ]
π

2

3π

2

https://dl.doubtnut.com/l/_ueTAyVemnEcb
https://dl.doubtnut.com/l/_zMBhe9ipR3uA


Answer: B

Watch Video Solution

5. In the group  under multiplication mod 7, 

A. 1

B. 4

C. 2

D. 3

Answer: C

Watch Video Solution

{1, 2, 3, 4, 5, 6}

2− 1 × 4 =

6. The group (Z, +) has............

https://dl.doubtnut.com/l/_zMBhe9ipR3uA
https://dl.doubtnut.com/l/_e4egiToq51wV
https://dl.doubtnut.com/l/_d8SIy3iSWDkf


A. exactly one subgroup

B. only two subgroups

C. no subgroups

D. infinitely many subgroups

Answer: D

View Text Solution

7. The value of  for which the function  is

the inverse of itself is :

A. -2

B. 2

C. -1

D. 1

α( ≠ 0) f(x) = 1 + αx

https://dl.doubtnut.com/l/_d8SIy3iSWDkf
https://dl.doubtnut.com/l/_GdFexlvngcs2


Answer: C

Watch Video Solution

8. If , then:

A. x = 2(mod 7)

B. x = 3(mod 7)

C. x = 4(mod 7)

D. None of these

Answer: C

Watch Video Solution

3x = 5( mod 7)

9. If , then which of the following is

TRUE ?

f(x) = ex and g(x) = log ex

https://dl.doubtnut.com/l/_GdFexlvngcs2
https://dl.doubtnut.com/l/_CJPoM9YSOVzo
https://dl.doubtnut.com/l/_7hzyLp7dJ4oz


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f{g(x)} ≠ g{f(x)}

f{g(x)} = g{f(x)}

f{g(x)} + g{f(x)} = 0

f{g(x)} − g{f(x)} = 1

10. The number of bijective functions from the set A to itself, if A

contains 108 elements is :

A. 108

B. (108)!

C. 

D. 

(108)2

2108

https://dl.doubtnut.com/l/_7hzyLp7dJ4oz
https://dl.doubtnut.com/l/_sljukueGvcnr


Answer: D

Watch Video Solution

11. If  is defined by  find  .

A. 

B. 

C. 

D. 29

Answer: B

Watch Video Solution

f : R → R f(x) =
x

x2 + 1
f(f(2))

1

29

10

29

29

10

12. If , find  :f(x) = 2x2 f(3.8) − f(4)

3.8 − 4

https://dl.doubtnut.com/l/_sljukueGvcnr
https://dl.doubtnut.com/l/_wAq2l83FyYbz
https://dl.doubtnut.com/l/_2bH19c7GDuei


A. 1.56

B. 156

C. 15.6

D. 0.156

Answer: C

Watch Video Solution

13. Let  be defined by  then f is

________

A. one-one

B. onto

C. bijective

D. f is not defined

f : R → R f(x) = ∀x ∈ R,
1

x

https://dl.doubtnut.com/l/_2bH19c7GDuei
https://dl.doubtnut.com/l/_cKyD0plxEIZD


Answer: D

Watch Video Solution

14.  and 

 . Find the domain of 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

f(x) = − tan( ), − 1 < x < 1
1

2
πx

2

g(x) = √(3 + 4x − 4x2) (f + g)

[ , 1)
−1

2

( , 1]
−1

2

[ − , ]
1

2

3

2

( − 1, 1)

https://dl.doubtnut.com/l/_cKyD0plxEIZD
https://dl.doubtnut.com/l/_l1aHst7n4CB1

